

Relaciones Inversas (E)

Llene los espacios.

$2 \times 7 = 14$

$7 \times \underline{\quad} = 14$

$14 \div \underline{\quad} = 2$

$14 \div 2 = \underline{\quad}$

$5 \times 9 = 45$

$9 \times 5 = \underline{\quad}$

$45 \div \underline{\quad} = 5$

$45 \div \underline{\quad} = 9$

$7 \times 2 = 14$

$\underline{\quad} \times 7 = 14$

$\underline{\quad} \div 2 = 7$

$14 \div \underline{\quad} = 2$

$7 \times 3 = 21$

$3 \times 7 = \underline{\quad}$

$21 \div \underline{\quad} = 7$

$21 \div 7 = \underline{\quad}$

$7 \times 2 = 14$

$2 \times \underline{\quad} = 14$

$\underline{\quad} \div 2 = 7$

$14 \div 7 = \underline{\quad}$

$2 \times 3 = 6$

$\underline{\quad} \times 2 = 6$

$6 \div 3 = \underline{\quad}$

$6 \div \underline{\quad} = 3$

$7 \times 8 = 56$

$8 \times \underline{\quad} = 56$

$56 \div \underline{\quad} = 7$

$56 \div \underline{\quad} = 8$

$2 \times 8 = 16$

$\underline{\quad} \times 2 = 16$

$\underline{\quad} \div 8 = 2$

$\underline{\quad} \div 2 = 8$

$8 \times 7 = 56$

$\underline{\quad} \times 8 = 56$

$56 \div \underline{\quad} = 8$

$56 \div 8 = \underline{\quad}$

$9 \times 6 = 54$

$6 \times \underline{\quad} = 54$

$54 \div 6 = \underline{\quad}$

$\underline{\quad} \div 9 = 6$

$6 \times 3 = 18$

$3 \times \underline{\quad} = 18$

$\underline{\quad} \div 3 = 6$

$18 \div 6 = \underline{\quad}$

$9 \times 6 = 54$

$6 \times \underline{\quad} = 54$

$\underline{\quad} \div 6 = 9$

$54 \div \underline{\quad} = 6$

$5 \times 7 = 35$

$7 \times \underline{\quad} = 35$

$35 \div \underline{\quad} = 5$

$\underline{\quad} \div 5 = 7$

$6 \times 8 = 48$

$\underline{\quad} \times 6 = 48$

$48 \div \underline{\quad} = 6$

$48 \div 6 = \underline{\quad}$

$9 \times 9 = 81$

$9 \times 9 = \underline{\quad}$

$81 \div 9 = \underline{\quad}$

$81 \div \underline{\quad} = 9$

$9 \times 5 = 45$

$5 \times 9 = \underline{\quad}$

$\underline{\quad} \div 5 = 9$

$45 \div 9 = \underline{\quad}$

$8 \times 3 = 24$

$\underline{\quad} \times 8 = 24$

$\underline{\quad} \div 3 = 8$

$24 \div \underline{\quad} = 3$

$9 \times 3 = 27$

$\underline{\quad} \times 9 = 27$

$27 \div 3 = \underline{\quad}$

$27 \div 9 = \underline{\quad}$

$2 \times 6 = 12$

$\underline{\quad} \times 2 = 12$

$12 \div 6 = \underline{\quad}$

$12 \div 2 = \underline{\quad}$

$6 \times 6 = 36$

$6 \times \underline{\quad} = 36$

$36 \div 6 = \underline{\quad}$

$36 \div 6 = \underline{\quad}$